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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
FRERSERA R wee fim -
(2) If ‘truth’ s the property of Proposition,

then “alidity’ is the property of L
( Fill in the blank )

W Torer o @z, @@ A %I
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(b)

(c)

(d)

(e)
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(2)

“In an inductive argument, if all the
premises are true, then the conclusion
may either be true or false.” Is the
statement true?

gt e IS, I SHiREIn WYN
54 o) W, (O PR Sore 27 i 1

wpTe)8 79 AT 177 R BIECHT STege 2

“Only graduates are eligible for the post”
—transform this ordinary sentence
into a logical proposition.

“@E  TOPIPNR 9 ORI
@e—%% ART IO SF R
LGSR

The Oppc.sition of A and E proposition is
called s

( Fill in the blank )
A T4 ¥ E 1 T Reaifors
= — @F
(<0 512 ot 71 )

In which figure of syllogism the position of
) . - o
middle t€rM is predicate in ¢he major
prem-isc and subject in the Minor premis-]c"?

R (U RETS CRPoHHT Sqieg YR 5T
R =F 7T SR 09 SR s 2z 2
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(3)

(f) Write one characteristic of symbolic logic.
BT SRR o1 CafE A

(g) “Classical logic is related to symbolic logic
as embryo to adult organism.”’ Who said
this?

“IR TS OREE GIECIR g R =,
e SR Ao AP
SHREE o g a1 3 FARE (A
t3feE ?

(h) In  disjunctive proposition/ alternative
proposition,  the Jogical connective
‘either-or’ is used in its inclusive Sense.

V ( Choose the correct option )

Romes o et T S G

- T e o T

( s g TR B

Plicativc function

() In what condition an im
will be false?

R w65 by fiferde T PO <

truth value of PV p ?

qﬁ P SS9 (F) 77, o3 PVP 3‘,‘\913_5” 'ﬁ;
2’37
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(4)

2. Answer briefly : 2x5=10
E*AIZ?? Taq fux

(a) Write two differences between induction
and deduction.

ST S S R e e
N2 ferd | ®

(b) Define categorical syllogism

forers UEd g

(c) What is meant by figures of syllogism?

e SeE e 8 e o

(d) Write two utilities of the uses of symbols,
2@ T o1 ST foray

(e) Symbolize the following proposition -

4qt js false that if he comes then I shay
not go.n

meﬁwﬁ‘lﬂ:
“‘ﬂmﬁﬂm"qﬁﬁmmﬁw@f’
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3. Answer the following questions (any four) :

(S)

fafeiRe erarm Tes far (R e o) :

(a)

(b)

(c)

(d)

(e)

A23/898

Explain briefly the relation between truth
and validity.

STerel S (IR Jed 77 v I T

3 L t
Test the validity of the mood ‘All’ in firs
figure.

CT
29 vicgeTe Al et A LT (O
salll

. eral
Explain the various kinds of gen

propositions.
I
RIS er et To7pr I

position? State

; 0
What s compound Pf nd propositions

different types of compo!
with €xample.

asic truth
Construct the truth tables of b
functions,

%WWWWWW'
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(6)

(f) What is logical constant? [g ¢’ (curl) or
negation a logical connective? If not,
then why? Explain,

R IR FE @A (curl) 31 s
oz ©F AT WA W T2y, oz Ry o
3 340

4. Answer the following questions - 10x4=40

FraforRe epcar T foan :

(a) What is argument? Discysg broadly the
relation between proposition ang argument,

T I AT T T LRI o o
2R el I

Or/# 1z
What is categorical proposition? Explain

with examples the different types of
categorical proposition.

frqeers o7 I Q2 R ey frgores
oo SRR T 4

(b) Explain with diagram about representation
of Oppositions In square of Opposition.

iR S e N —
tergre F9 MM, B3 T2 ey <oy
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(c)
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i ibe t
. What is symbolic loglC? Descrl

(7))

Or/#13T

converted? If not, then why? Explain.

$q TR
I R IR @ ? T
WWlOWWWW?Qﬁ
iR, coeg R 2 g 01

he

ic logic and
relation between symbolic ;3

traditional logic.
g A7 4O
AT wRwE T

qred ST
SERER W opge@iere
3641 90 1

Or/ %
n? Explain the

What js simple proposit© oposition and

) _ s
differences between simple

compound proposition.
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(8)

(d) What is indirect or shorter truth table

method? Explain the characteristics of this
method.

AT STorel SR oy 3
o Sorel e
Tafs T QCT? <R sz

ey W WRERTR I

Or/a3gy

Arguments WINthe helolap gice, oot waiste

method :
2T Hopol IR oy
oo RIS Sofq 3 1o
(i) p>=>9
~q
=P
(i) (pvq@)Dp
pVva
~p
* ok A
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